43)  The local movie theater reported losses of $475 each day for three
days. What was the loss for the three days?

44)  After three games of golf, the leader’s score of -15 was posted.
(Assume that the golfer had the same outcome for each game.) What
was the leader's posted score after the first game?

45)  Felix reported that the coldest day on record for his town was five
times colder than yesterday's temperature, -4°C. What was the
temperature of the coldest day on record in Felix's town?

46) — 6 + (—3)(-5)
47)|- 6+ (-2)(-8)
48) |- 3|9
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